3).

L = 5(m)
i =0.3
1.75 1.00 1.75 1.00 1.75 1.00 1.75 1.00 1.75 1.00 1.75
P,=50.0 P,;=50.0 P=100.0 P,=100.0 Pg= 50.0 P,,= 50.0
P,= 50.0l P,= 50-[1 P6=1OO.0l P8:100.0l Po= 50.1 P,= 50.0
L 4 L 4
L 7
1.0 § g
L = 5.000(m)
et T
'“732 "8
5.000 7
= 4+ —
32 8
= 1.031
I :
L : L =5(m)
3m
7.80(kN/ )

H-350>=<350><12><19

A =
Ix =
ly =
X =
Zy =
ix=
iy=
W, =

154.90(cm?)
35000(cm*)
12500(cm*)
2000(cm®)
716(cm®)
15.10(cm)
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1). Wd
_ w1
Wd =w, + WL 2
- 154+ 7.80 < 3000>107°
B 1000><3000><107° 2
= 5.400(kN/m)
Wd : (kN/m)
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= 175.000(kN)
a Ra
L
>P (T - dx)
Ra = L
5
175.OOO><(7 - 0.000)
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MImax = 218.750(kN m)
(©F SlImax
o L = 5(m)
SlImax a P,=175.000(kN)
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| I = 5000.000(mm)
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©).
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Zy = 229(cm®)
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W, = 0.8(kN/m)
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27.000(kN)
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W W = 1000(mm)
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| I = 3000(mm)
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W, W, = 1.5(kN/m)
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3). Mmax
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7.184><3.
= w = 130.776(kN)
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n n  =1(C )
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I 3000.000
4.5 C b = "250.000 - 12.000) 30
1
oca = {140 - 2'4X(T - 4.5)}>=1.5
000.000
= {140 - 2.4><(3250W - 4.5)}>1.5 = 183.000(N/mm?)
I I = 3000.000(mm)
b b = 250.000(mm)
). a
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T =

n(H-2t2) tl

_ 130.776><10° _ ) _ )
T I (250 - 2=14)<9 - 65.453(N/mm?) Tca = 120(N/mm?) -0.K.-

T (N/mm?)
Smax kN)

n n=1C )
H H = 250(mm)
tl t1= 9(mm)
2 t2= 14(mm)
Tca (N/mm?)



